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Fifth Semester Degree Examinations
JANUARY/FEBRUARY 2025

COMMERCE
(NEP Scheme)
Subject: NAE 9024: EMPLOYABILITY SKILLS
Time: 2 Hours] [Max. Marks: 60
TR0 2 mosin'so| [og wosrsb: 60
Note:
XREITMe0;

1. Answer any 30 questions.
ande 30 ggren evzoz.

2. Each questions carries 2 Marks.
g3 FPaw 2 wosniD, @EeoncsId

3. Please do not write/mark anything on the question paper.
oty Jg TFavY OB, edabeded/mc3Tiiea.

4. If you answer more than 30 questions, answers of first 30 questions would be
considered for valuation:
ey 30 &g, Tep Yot w300, Sece 30 Fgmon evgoned SR oTTE
JONeSTRM .

5. Calculator are not allowed.
YT VTR NDTOSL.

1. Expand KSPEB
KSPEB ey, %%

a) Karnataka State Police Examination Board
BRoF 838 OOz ZpIex® TOeTY TOTY

b) Karnataka State Police Education Board
BIOF LT 0oz, Jpdexr 380 OB

c) Karnataka State Police Establishment Board
BIOFLIT OO%; Zpdexs m@wa% OB

d) Karnataka State Police Eligibility Board
BIFLT DOz TPOT OTFID OB

2. is going to conduct the Junior Clerk Cum Typist in Central
government jobs
HOROHTT FEF IRT YT OR, IBLOmT.

a) State Public Service Commission
Oozy SreeBResm godnen

b) Union Public Service Commission
ORRACHT TWF BOCFE FeTD*
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¢)  Staft Selection Commission
AWOD 6.'303% sodnen

d) Railway Recruitment Board
33 Seadmd Rvomy

What is the cligibility criteria age in years in Commercial Tax Inspector for
general merit? et
TIRY eTEIPN merderod 08 oF BICRY [AWAYY WTE InTwon
TRy D9

a) 30 Years  b) 35Years c) 38 Years d) 40 Years
30 SIFFno 35 IRFAWD 38 IIFRW 40 SIHETD

Which commission in Karnataka is responsible for conducting FDA/SDA

for state government jobs?
SWFUIHY o woleersy Oory AWFO BRI STBI/RTBD IBH3
BRI O0NT, BRoOH?

a) Karnataka Public Service Commission
TIOFEIT Boedtemo Sodnen

b) Karnataka Examination Authority
BJOF LI T0eTy THTT

¢) State Public Service Commission
ooz Seesdem wodeen

d) None of these
ARRTR ¥Y

What is the minimum educational qualification for Karnataka Power
Transmission Corporation Limited?
BTF LT TIJT® LRT VTS Foprdenn dMdER 3 3Fed8 oBFE A9

a) BE b) Degree ¢) Civil d) All ofthese
0.9 TITD AQO* ARQYIP

Find the missing series: 21, 34, _, 89, 144.
FOBO3T ﬁdt@oﬁaab‘,‘ DS 21, 34, 89, 144.

a) 43 b) 55 ¢) 64 d) 71

BF:CH:??::HO:LT
a) FG b) EK ¢c) CE d)FJ

Is 87120 is divisible by 9?
87120, 9 003 ZARBEC?

a) YES b) NO «¢) MAYBE d) Cannot be determined
T QQ QTR ABFORLRMHOY

Find the HCF of 40 and 60 using prime factorization method.
3,57 FRITITD DgeIRI, wIrdeom 40 B 60 g HCF VY, FOBLRAWO.
7] «

a) 10 b) 12 c) 20 d).40
Contd.............3
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10.

14.

15.

16.

17.

The LCM of 14, 56, 91 & 84
14.56,91 & R4 5 1.CM

a) 3185 by 2368 ¢) 2184 d) 3325

What is the angle between hour hand and minute hand when it was 5:05
pm?
ToE 5:05 enchmen notdoh @0l s s FNYT G Bt Wb

"» ) .

a) 60 b)) 90 ¢) 120 d) 150

The calendar for 1990 will same for —— year.
1990 RUoRe’ Jurd Lot NHIT.
a) 2000 b) 2001 c¢) 2002 d) 1996

What day of the week of 15™ August 19497
15/08/1949 o w05 s OF9?

a) Saturday b) Monday c¢) Tuesday d) Wednesday
IQw0 XReWOT Sonyes ANAIDLY)

My watch, which gains uniformly, is 2 min slow at noon on Sunday, and is
4 minutes 48 seconds fast at 2 pm on the following Sunday. When was i
correct. .
DICRTIN MYHI 3, NACROR GOMTT IS, 2 DT ATRTTRNGT
DI FOOT LPITOTOR R, 2 noWR 4 daos 48 Fdomony SeriTondEn.

9T 03N KOOI

a) 2 pm on Tuesday b) 12 am on Tuesday
SoNnYazs TR, 2 noedn EWelAL-ple! d@rj\ 12 rodn

¢) 9 pm on Tuesday ~d) 6 pm on Tuesday
ortemes Tod 9 notdr on¥mes Koz 6 Mo

Divide 70 in the ratio 3:7
1570 &, 37 ©DIIBY AR,

a) 49and21 b) 30and 70 ¢) 21and49 d) 70 and 30
49 =) 21 30 533_39 70 21 833339 49 70 53'53 30

Solve for x:2x-5=1
X n S0®0x: 2x-5=1

a) 4 b6 o7 d3

The average of five consecutive odd numbers is 61. What is the difterence

between the highest and lowest numbers?

2T XIZ 3% :doaiémi X0oX0 6. @35(35 D LRI xoaiﬂmf RIESAR aﬁo.mjxisie&“)
a) 2 bS5 ¢ & d 10

The average weight of 29 students in a class is 48 kg. If the weight of the
teacher is included, the average weight rises by 500 g. I'ind the weight of
the teacher?

Contd...........4




QP CODE 10975 Page No...........q

19.

20,

24.

25.

NOm ITRdahY 29 LTRHFNY dooxd de8 48 8.3 BEEC IndEd, AHevuud,
TOTO IRET) 500 M0 I3, 5365 \mmeb{ O LLEICDOY
> ~ o i

a) 62 b) 65 ¢) 68 d) 63

Rent of the house s increased from 7000 to 7700. Lixpress the increase in
price as a pereentage of the original rent. . b tedimte
DIFad ESECLV%C&:R% 7000 0@ 7700 ﬁé d?,ﬂulimhd. W03 aj?,g'v;wr.q{ THY
ORROD Besmaedy wom JITAA.

Q) 15% b) 18% ¢) 19% d) 10%

Rent of the house is increased from 7000 to 7700. Express the increase in
price as a percentage of the original rent.

2,000 a.RA DoeOLT WH, 2200 § Spooumn SeNTR ooy T Iz
socsoimt@tsc?

a) 200 Gain b) 500 Gain ) -200 Loss d) 500 Loss
200 ooy 500 eog3 ~200 3 500 &3

By selling a table for 330, trader gains 10% find the cost price of the table?
330 § Hene' o3 S0 FRmT Swos, TR0 10% MORTF, Bees et
aidoi:a’q\‘ oSG AOINTTIeQ

a) 200 b) 500 ¢) 300 d) 40

Find the interest to be paid on loan of Z. 6,000 at 5% per year for 5 years.
5 IRFRYISR S[EE 5% S0 6,000 WO TTERWeTT WD), BOBLREND.

a) 1500  b) 2000 ¢) 3000 d) 4000

Pointing towards a photograph, Mr. Sharma said, “She is the only daughter
of the mother of my brother's sister.” How is Mr. Sharma related to the lady
in the photograph?

TOIRUITW, B0edRTY, Be. IITF RewBD, "oPeh IF, ABRTTT TBRTOOD

Bo00D  DFF onish. FoXSRUITIDT  S&Po3RodR & 3JF Berd Rowor
CAcielalaplel)

a) Cousin b) Sister c¢) Aunt d) Daughter in law
RReTTROW0H BBRCTO ?3%:’3& 303

A is 40m south-west of B. C is 40m south-east of B. Then, C is in which
direction of A?

A 20wt B owon ?36:)5335% 40m. B onord 40 m e:sﬁd‘eojoﬁﬂ 40m sh3. on
CAo 0Ima 03989

a) South b) East ¢) West d) North
Tgeo TRJIF w%m “o3g

After walking 6 km, I turned right and covered a distance ol 10 km. in the
end, I was moving towards the north, From which direction did I start my
journey?

Contd...........5
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26.
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30.
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o - o . P P 4 9 50
BTN 10 $.cwe TInd Fownad. dedSohd, T YuIsu 3TN

3
¢
TOILTDFOTID, 033033 AL aleley Bsplelotl Ral
b) West and moved castwards
TADE 0D TpIFF DA
12} 4 0 ]

6 3.0 I3 wo

»:gw\h_—’ e =y )
WUALSW . Do S8
A Cowd (\J(\/‘;

a)  South and moved northwards
TEre :L:!: mgdz’a BO/D
Fast and moved westwards

¢) North and moved southwards d)
g DD TAHD 192,35
TpTFE 0 BTG I

ctel ~ =~
506‘5 DO 53!‘0%

A can do a piece of work in 36 days. B in 54 days and C days in 72 days.
All the three began the work together on the 15/dec/2020, but A left 8 days
and B 12 days before the completion of the work. If the C took the rest for a
week then in how many days, the work was finished from the day it started?
A nom oI, 36 Osnvd, B 54 osnvd v C osnw 72 03RYY
STOBLIOXD. RTTHR 23N 15/8%0200°/2022 Tom® z’fwsaja‘s& TRTORATIT, Siniet
A 8 03w DD B 12 ozne Secen o Tpror RN Bemey By, C o
TROTITA - T IR, IADIe0TS o) OINYY FUX  TRUOFWE  LHOOT

ONOT?
a) 24 days b) 26 days c) 28 days d) 30 days
24 O3nD 26 QIND 28 QINH 30 QT[N

The sum of two numbers is 60 and the difference is 6. What is ratio of two
numbers
DT FoFNY BRI 60 XD BZIPY) 6. HTW RoBNY DI QOTTeR

a) 2:3 b)) 11:9 ¢) 46 d) 62

Directions to solve Question No. 28 and 30: Which diagram indicates the

best relation between the following?
=z, "o.s:% 28 oo 30 TS8R JOWOIew JWEFIINH: IPNIZNY SR SEEN

T, 030 TeagogR) BRWROIT?

A NAT
oL gC,‘/.uu“,‘
A B
<

P @@ ©o @

Women, Doctors, Anchors
3,0, Yoo N

1

D
Q

Lﬂn

. P
—n % P s —
'«lviJJ AOW, Sl sy

v

2

Mars, Solar System, Universe
Soone, TUORT, LT,

Girls, Boys, Students

TOTENCIITY, TITINT, &Jmézprm*b
Contd.............0
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Directions to solve Question No. 31 and 33:

The following table gives the sales details for text books and reference
books at Primary/Secondary/Higher Secondary/Graduate levels

I8, Yo, 31 vow 32 SRBR TOTOTL AWEFIND:

NS BRrI(ERy TRPNE/QI0N/NTT BRGIN/DEN BoIRYY T8, YA =
WD [IBNY IRoT TRV, ARHIT.

Year ' Primary Secondary | Higher Secondary | Graduate Level
=3 TERE | dead Zohot Ffowd | TRIFT vy
2009 | 42137 | 8820 65303 25343
2010 | 53568 10285 71602 27930
2011 | 58770 16437 73667 28687

12012 | 56872 | 15475 71668 30057
2013 | 66213 17500 78697 33682

12014 | 68718 20177 82175 [ 36697

31. Which of the categories shows the lowest growth rate from 2009 to 2014?
QIRT INFy 2009 00x 2014 TISK 2D EATV] o] ddﬁﬁ)‘)‘ &aeomgd?

a) Primary b) Secondary c) Higher Secondary  d) Graduate level
BRIV X3omo BON0° 0RO CHaTAROW

32. What is the growth rate of sales of books at primary school level from 2009
to 2014?

2009 50T 2014 UWENT TRBENE o BOIZY IINY [PoWT WBeIedriod T
W7

a) 29% b)51% c¢)63% d)163%
33. Which of the category had the highest growth rate in the period?
EBOCHY 0l INFF) %&35 ALV ddaiabel BROOTY
a) Primary b) Sccondary c¢) Higher Secondary  d) Graduate level
TN Fg:felete BT ZBoRO TTD =Y,

34. If in a certain code language, TWENTY is coded as 863985 and ELEVEN
is coded as 323039, how will TWELVE be coded?

OFE teer poRond, TWENTY U, 863985 womd Iy ELEVEN O,
323039 o> decw Snaad, TWELVE vy, @t see SRTDII) \
a) 863903 b)86365 c)863203 d)683583
35. In a certain language, ‘SIMPLE’ is written as ‘ISPMEL’ and *CHAPTER®
is written as ‘HCPARET’. Then ‘LFWORE’ stands for which word?
Lot BLFE yeziond, SIMPLLY o, ISPMEL’ aom wdo&mm:_sod NN
‘CHAPTER’ e&, ‘HCPARET” o woohordsy. mEd LFWORE’
DT OIRT TIIH, RRURIL?
a) LOWER b) WORELF ¢) FLOWER d) WORFEL

Contd............7
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36. Ina COdC_ language., if TRAINS is coded as RTIASN, how will FLOWER
be coded in the same language?
dpea :a:abcg TRAINS oz, RTIASN aoth $peat Sm0a0d, @t omHo5)
FLOWER e, @ert $nea* smmenman?

a) LFOWER b) WORELF ¢) LFWORE d) ERFLOW
What is the synonym for “ephemeral”™?
“ephemeral™ 2owosg s3RTEFs HoH®?

a) Enduring b)Lasting c¢) Transient d) Permanent

+J
-~

38. Which sentence is grammatically correct?
O3 0T THFTVRT TFT FO0IPNT?

a) Her and I went to the store b) She and me went to the store
¢) SheandIventtothestore d)Me and her went to the store

39. What does the expression “burning the midnight oil” mean?
“burning the midnight 0il” oo wyp=Iod wEF@ad?
a) Exercising at night b) Working late into the night
¢) Cooking late d) Sleeping late
40. Read the passage and answer the questions:

TEIY, L0 I FIA wIdk:
Passage (¢onesod): “The sun sets in the west, casting a warm glow across the
horizon. Birds return to their nests, and the world settles into a peaceful evening.”
What happens when the sun sets in the passage?

a) Birds leave their nests

b) The world becomes chaotic
¢) A warm glow is cast across the horizon

d) It becomes morning

k ok ok ok k k%
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Fifth Semester B.Com Degree Examinations
January / February 2025
NEP Scheme
COMMERCE

NCEO0280 : Retail Management (Elective)
[Max.Marks:60

Time: 2 hrs.]
Instructions to Students :

l.

1. The students should legibly write Section number along with question

numbers within the margin only.
2. The answers without Section number and question numbers will not be valued.

3. Draw neat and labelled diagrams wherever necessary.

4. Answer Section — I Multiple Choice questions should be answered in the
first page of the main answer book and same questions shall not be
answered repeatedly.

5. Any identifications like marking, ticking, dots etc., in the options of MCQ
(SECTION - 1) on the question paper is strictly prohibited. Do not write
anything (Except Reg No.) on the question paper.

DTOFMCA ZRWIN
1. QTR0 I, FoylTERORIT DI FoyCe0, Ay edol) SXR2FTe 0L cusl

0c025e80,

2. Dgorn Tely Torke I, FoLeR, AExeRID RO0S SV ONTR, VTR
Fvenlacianle Otn/lal SNy

3. &73, 0T BENYE., eXFERN DK, et BT Jew BT,
20020980,

4. oo - I O @8 x> sadob I a0 g o0, IO TG0
Feredniod., wwdatidess @orie &de I men SV3,00K, PIFSSFRLTO,

5. 3, T58000.,7 Qgan — 1 08,8 @000 I, o dezoon goby «vg,one

(OPTIONS) bee? oxosgde 06300 MOV XBpls T, Mnd &,32, ToFJ,
L8y RERYE, TO MoCoF TRBIEX (V) IR, FeRDET, ) DTFodICRNE,
ZE T80 e (Fmotiord Todd o0, BpOHIAY) ed arede 0T
IO, S0reToh,

SECTION -1

Write the most appropriate answer from options provided. One Mark cach :
10X 1= 10 Marks

I-1) Retailer is a person who sells the goods in
A. large quantities 3. small quantities
D. None of the iibove

C.both A and B
Contd...2
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800 D@0 wodd 30 36&)(19:5.3( Jrovots FrerdS TS
®) T JIotaritd W) Iy Tdreeariwd
R) Q) DB W) B) DedS AIEe L

I-2) MRP stands for a
A. minimum retail price B. maximum retail price
C. minimum rate of profit D. maximum rate of profit
MRP Qo@d
®) 303 2303 &3S W) n0g 30T 33
R) B 803 B33 Q) wis 03 33

1-3) Chain stores are a type of a
A. ownership based B. Merchandise based
C. service-based D. none of the above
JOIY ©onBnwd lamplelal
Q) dme)eﬁé;j 375003 W) Dedrod, = e355203
A) Jed e5003 Q) DedS wroPde o)

factors.

I-4) Family reference group role and status are categories of
B. social factors

A. cultural
C. personal D. psychological
DEDOVT GLETeD MHODS ToF) D) J30dy ©030Y InFRwNS
) Do, 38 W) TRy
R) J;0bds - 8) I3
I-5) is very important for retail store
A. product B. site
C. transportation D. machine
30T ©ondn w@my dnay
@) WIJ W) I,
X) <o0d &) 003,

The wide range of products available at the store is referred to as

I-6)
A. product mix B. promotion mix
D. none of the above

C. marketing
| Contd...3
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eoonBabe SARRIe N B INY ToB3 q’,esﬂabr\i& o Q0T
O[3 VISISLleVIn]
D) VBT DB W) 32300 DB
) QArdredont 8) eI adroPe )

II.

1-7)

1-8)

1-9)

1-10)

Answer any FIVE of the following. Each question carries 03 marks.

Product are also termed as in retail business

B. stock
D. none of the above
Qo BB BB0hHeH3BE.

A. inventory
C. Merchandise

V33, BT DY H0TO
R) DD W) 59

) Dedrod=° 8) edI dreFde e
Types of direct selling are also known
A. outbound and catilogue retailing
C. pure play and brick and click

Je3 BR0EB APNRYRY, B Bed Bnmo 3TaAhwHBE

Q) BRTBREHT DA B3 BT W) 3,038 DB) BT
R) a’yazsc‘ e DB DT DI 3 &) eI e e

The Personal factors include

B. personal and multilevel

D. None of the above

A. Age B. Lifestyle

C. Income D.All the above

300338 e903r0 ~ed3

Q) JabhR), W) 2e338,0

) e3a0d 2) DedI v

Examples of E-retailing

A. Amazon B. Alibaba

C. Flipkart D. all of the above

2-230)0 THI0T PVTOBTHENW

Q) ez ) ez
8) Ded3 o

2) Jga‘ BoLIF
SECTION - II &¢on — 11

S £9NT CIRRTITT DG BB €V3,08, TS JB NN 03 BB,

[I-1) What is retailing?

2308 @y@o0 worsderd ?

II-2) What is non store retailing?

II-3) State any four performance appraisal methods in retailing

woriBabes 238 mdamd orded ?

5X 3= 15 Marks

Contd...4
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BQJ D303 atregyde Towy, BabFERBab APV RRES ISV, 394,

11-4) What is compensation?
30%o3 wordexh ?

I1-5) State the characteristics of retailing.
SSloRapkarleln DRIV, 3V,

II-6) What is Telemarketing?
e30Ire8redort nordexd 2

1I-7) What is consumer behaviour ?
M®8 SBIVB ordexd ?

I1-8) Define the term product.
‘I3’ dddd& LN

SECTION - III &1 — ITI

III.  Answer any THREE questions from the following. Each 1uestions carries FIVE Marks
EINSYNGD,,, BRHTEOH® =90 T3, .nont «v3,0 wowo, 3X 5= 15 Marks

II-1) Explain the functions of retailing
80T 903 ZabrivR 303,
I1I-2) Discuss the consumer buying Decision Process
mES 00ed Agors 330h0odby, 233 .
III-3) Explain Retail Planning Process
300 adee «.7'9)@03)03.)3.2( QA30.
[11-4) Write a note on ethical issues in retailing -Elucidate
% Jle) T @0 3,33 smﬁﬁnv DO 333 23D - ASO.
I1I-5) Briefly explain the promotional mix
323000 BRI, JogBTN ATO.
SECTJION -1V &yon — IV
IV.  Answer the following questions. Each questions carries 10 Marks.
&7 39NG Z3,N0R ev3,00, 3 I3, Bosns, ' 2X 10= 20 Marks
IV-1) Explain types of store-based and non-store-based retailing.
©on8 65203 DI vorBobhess %= Jle] IAERREloIA C)dd%’dzl 302
OR &g
Explain the impact of information technology in retailing,
% 3le) TBICTY Trodd 30@@356 E’gmdd&i& 30
IV-2) Explain the retail marketing mix.
800 Tymedeedd WFHIY IS0
OR 5w

Explain the factors influencing pricing Decision.

B¢ Agrdd hed Zand Dedd woBnY AZ0.

TEEE RS
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Fifth Semester B.Com Degree Examinations
January / February 2025
NEP Scheme
COMMERCE
NCE0290 : Goods and Services Tax

Time: 2 hrs.] [Max.Marlks:60
Instructions to Students :

1. The students should legibly write Section number along with question
numbers within the margin only.

. The answers without Section number and question numbers will not be valued.

. Draw neat and labelled diagrams wherever necessary.

. Answer Section — I Multiple Choice questions should be answered in the
first page of the main answer book and same questions shall not be
answered repeatedly.

5. Any identifications like marking, ticking, dots etc., in the options of MCQ
(SECTION - I) on the question paper is strictly prohibited. Do not write
anything (Except Reg No.) on the question paper.

6. Simple calculators can be used.

SECTION -1

- N

AN

Write the most appropriate answer from options provided. One Mark each :

I-1)

I-3)

[-4)

I-5)

10X 1= 10 Marks

GST is

a) Direct Tax b) Indirect Tax

c)Both a & b d) None of the above

GST in India was implemented on

a) 1% April 2017 b 1" July 2017

¢) 1* January 2017 d) 1" March 2017

Full form of RCM in GST

a) Reverse charge mechanism b) Return charge mechanism

c) Rate charge mechanism d) Rational change mechanism
The maximum rate of GST levied in India is

a) 18% b) 28%
c) 36% d) 40%

If goods are supplied from a dealer from Gujarat to the dealer in Karnataka,

thisis
a) Intra Statc sale b) Inter State Sale
c)Both A & B d) None of these

Contd...2
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II.

1-6) Goods worth Rs. 1,00,000 (GST 18%) sold by Rakesh of Shivamogga to Harigh
of Mangaluru. How much is CGST.

a) Rs. 9,000 b) Rs. 18,000
¢) Rs. 27,000 d) Nil
I-7) If the total output GST is Rs. 30,000 and ITC available is 22,000 the GST
liability is
a) Rs. 8,000 b) Rs. 30,000
¢) Rs. 22,000 d) Rs. 52.000

I-8) A manufacturer sells goods worth 80,000 with 18% GST and has 10,000 ITC.
The net GST liability is :

a) Rs. 4,400 b) Rs. 14,400
¢) Rs. 18,800 d) Rs. 18,000

[-9) Prema of Sagar sells worth Rs. 2,50,000 goods to Akash of Hassan: The
loading and unloading charges Rs. 4,000 and trade discount given Rs. 1,000
before supply of goods. How much is transaction value ?

a) Rs. 2,53,000 b) Rs. 2,54,000
¢) Rs. 2,55,000 d) Rs. 2,45,000

[-10) The GST council is chaired by

a) The Finance Miniser b) The Prime Minister
¢) The President of India d) The Governor of RBI
SECTION -II

Answer any FIVE of the following. Each question carries 03 marks.

5X 3= 15 Marks
II-1) Give the meaning of subsuming of taxes.

II-2) What is dual model of GST ?

II-3) What is Debit Note

II-4) A hotel offers a combo package of a room stay with complimentary breakfast for
Rs. 5,500. The GST rate for room accommodation is 18%, and for food services, it

is 5%. Find out nature of supply and GST liability.

Contd...3
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[1-5) Mr. Satish, a manufacturer in Bengaluru, selling CCTV and accessories to Girish

II1.

[1-6)

11-7)

11-8)

wholesaler in Shivamogga. The MRP is Rs. 36,000 but, sells it for Rs. 32,000. The
GST rate for CCTV and its accessorics is 18%. Compute the taxable value and fax

liability of Mr. Satish for the month March 2023,

Mr. Jithendra purchased a Decpavali gift box consisting of canned foods (GST at
18%), sweets (GST at 18% ), chocolates (GST at 18 %), cakes (GST at 18 %), dry
fruits (GST at 12%), aerated drink (GST at 28 %) and fruit juices (GST at 18%)
supplied {or a single price of Rs. 8,000. Determine the nature of supply and GS'T

liability of the gift box.

Madhav a registered dealer in Maharasthra, makes supply of goods to Mr Swaroop
registered dealer located in Maharathra, valuing Rs. 2,50,000. Packing charges,
commission and designing charges was Rs. 500, Rs. 1000 and Rs. 3500
respectively. The supplier provided trade discount of 1% on value of goods (showin
in the invoice). Applicable rate of GST is 12%. You are required to calculatc

Taxable value and Tax liability.

Suvarna Mangalya Mandira registered religious trust entity under section 12AA of
Income Tax Act 1961. The following details with regards to the activitics
undertaken by them have been furnished in the month of October 2023. Compute
the value of taxable value and tax liability. GST has been charged at the rate of

18%. (CGST+SGST)

Particulars * | Amount(Rs)

Renting of rooms where charges are Rs. 1400 per day 2,80,000

Renting of Kalyanamantapa where charges are Rs. 6,16,000
22,000 per day
Renting of shops for business where charges are 72,000

Rs. 9,000 per month

SECTION - 111

Answer any THREE questions from the following. Each question carries FIVE
Marks. 3X 5= 15 Marks

I1I-1) Write a note on GST Council.
111-2) Mention any 10 exempted goods and services.
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II1-3) Mr. Shankar has the following GST ITC and GST liability. determine the

utilization of Input Tax credit (All figures arc INR).

Type ofGQT T lnpul Tax Crcdlt (ITc) | Oulput Tax Liability
1GST R 14,000 | 18,000
CGS1 13,0000 10,000
SGbTMTCbT 2000 800
Total | 29000] 18,800 |

[1I-4) Mr. Varun a wholesalc supplier in Shivamogga, the following details arc given by
him. You are required to calculate Taxable value, Tax liability and Total invoicc
value:

I. He sold 100 bundles of windings to winding wire 1eta1ler in Mangalore, its
value is Rs 4,50,000

- Loading and unloading charges met by the wholesaler himself Rs. 13,000

3. Packing charges of Rs. 4,000 charged by the supplier before delivery of the
goods. ,

4. The supplier also charged Rs 3,000 interest for delayed payment.

5. Trade discount Rs. 7000 given after the supply of goods and not known at the
time of supply.

6. Received subsidy of Rs. 11,000 under the Government sponsored subsidy
scheme.

7. The GST rate for above goods 18%

HI-5) From the following information, find out time of supply of goods

; S.N J{ Date of Removal | Date of Invoice | Date of Payment

1| 18062024  14.062024 28.06.2024

2 | 20092024  21.09.2024 20.09.2024

3 [ 1nri204] 12112024 1.12.2024

4 | 05.03.2024 |  04.03.2024 06.03.2024

s | 28022024 01.03.2024 02.03.2024
SECTION IV

carries 10 Marks.

Answer the following questions. Each question
2X 10= 20 Marks

iv.
[V-1) Explain the salient features of GST.
OR

5r1 Padmavathi Enterprises a registered pharmacy distributor agency at Bangalore,

gives the following information pertaining to inward and outward supplics made

during the month of October 2023:
Contd...5
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Particulars Transactions Ratc of | Inward | Outward
- GST Supply Rs. | Supply Rs.
Intraocular lens | Purchased from | 12% Vlf;..()_()#()?)H 15,00,000
Hyderabad Supplied
To Gujarat B
[nsulin Purchased from | 5% | 760,050 8,00,000
Mangalore supplied
To Mysore I
Spectacles Purchased from Delhi 12% 9,00,000 | 14,00,000
Supplied to Bangalore I
Dental wax Purchased from 18% 10,50,000 7,50,000
Gulbarga supplied to Kerala
Intraocular lens | Purchased from Mandya 12% 6,00,000 | 10,00,000
' Supplied to Shimoga i

You are required to calculate the amount of GST payable by the Sri Padmavathi

Enterprises for the month of October 2023 after availing the ITC.

IV-2) Explain the types of assessment and types of Returns in GST.

OR

From the following information compute the amount of output tax liability of Sri
Ram dealer who has registered in Karnataka for the month of November 2023.

Particulars Amount
Rs.

1. | Product P sold to a dealer in a Bangalore rate of GST notified | 3,00,000
to this product is 18%

2. | Product Q sold toa dealer in Mysore rate of GST @ 12% 80,000

3. | Product R @ 0% rate GST sold to a dealer in Pondicherry 3,50,000

4. | Product S @ 5% GST sold to a dealer inJammu and Kashmir 3,80,000

5. | Product T 28% GST sold to a unregistered dealer within the | 2,20,000
state

6. | Product U rate of GST notified is 12% sold to SEZ developer | 5,00,000
in Bangalore '

7. | Product V sold to a dealer in union territory rate of GST | 4,00,000
notified is 18%

8. | Product W which is exempted from GST is sold to registered | 6,00,000
dealer of Pune :

' 9. | Product Z, sold to a registered dealer within the state the | 5,50,000

| rate of GST notified is 18%.

1 10. | Product A sold to registered dealer in Belagvai who has | 2,00,000
registered under composition scheme @ the rate of 28% GST.

* k k k kk
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